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QUESTION 1

Which option is used with the RECOVER utility when the data sets of the target objects have already been restored to a
point of consistency by another process offline?

A. LOGONLY

B. FROMDUMP

C. TOLASTCOPY

D. CURRENTCOPYONLY
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_12.0.0/ugref/src/tpc/ db2z_recoversyntax.html

QUESTION 2

DB2 native SQL procedures execute in which DB2 address space?
A. IRLM

B. DIST

C.DBM1

D. WLM stored procedure

Correct Answer: C

Reference: http://robertsdb2blog.blogspot.com/2012/12/db2-for-zos-clearing-up-native-sgl.html

QUESTION 3

Which type of index will cause DB2 to store the data in a given physical order?
A. UNIQUE

B. PRIMARY

C. CLUSTER

D. PARTITIONED

Correct Answer: C

Reference:

https://www.google.com/url?sa=tandrct=jandg=andesrc=sandsource=webandcd=4andved=2ahUKEwjofjwlb7jAhUGilwK
HZ0aAykQFjADegQIBBACandurl=https%3A%2F%2Fshare.confex.com%2Fshare%2F125%
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QUESTION 4

You want to limit the access of a table to allow users to only see certain columns and/or rows. Which of the following
options CANNOT be used to accomplish this?

A. A view
B. Multilevel security
C. An MQT (Materialized Query Table) D. A combination of row permissions and column masks

Correct Answer: C

QUESTION 5

Consider the following scenario:

Userl creates table USER1.TABLEL in DATABASEL Userl grants ALL PRIVILEGES on TABLEL to User2 User2
grants ALL PRIVILEGES on TABLEL to User3 Userl revokes ALL PRIVILEGES on TABLEL to User2 User3 has
DBCTRL authority on DATABASE1 Is User3 able to retrieve rows from TABLE1?

A. No

B. Yes

C. No, if the revoke used INCLUDING DEPENDENT PRIVILEGES

D. Yes, if User3 was granted DBCTRL prior to the creation of table USER1.TABLE1

Correct Answer: B
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